
Zad. 1.1. Obliczy¢ caªki:∫
x4(1 + x)3dx,

∫
(x + 1)3

√
xdx,

∫
sin2 xdx,

∫
x3exdx,

∫
x4e2xdx,

∫
x cosxdx,∫

x2 sinxdx,
∫
x3 lnx,

∫ √
x lnxdx,

∫
xn lnxdx,

∫
arctgxdx

Zad. 1.2. Caªkuj¡c przez cz¦±ci, znale¹ relacje rekurencyjne dla caªek∫
dx

(x2 + α2)n
=

1

α2

(∫
dx

(x2 + α2)n−1
−
∫
x

x

(x2 + α2)n
dx

)
∫
xα lnn xdx∫
xneαxdx

Zad. 1.3. Oblczy¢ caªki
∫
xe3x

2

dx,
∫
x2 sin(x3 + 1)dx,

∫
ln x
x dx,

∫
1

x ln xdx,∫
ln x
x3 dx,

∫
sinx cos3 dx,

∫
sin3 x cos3 x,

∫
cos x

1+sin xdx,
∫
x2
√
1 + xdx,

∫
dx

1+
√
x
,
∫ √

1− x2dx,∫ √
1 + x2dx,

∫ √
x2 − 1dx,

∫
1√
x2+1

dx,
∫

x2
√
1+x2

dx,
∫
arcsinx

Zad. 1.4Obliczy¢ caªki
∫

dx
2x2+9x−5x ,

∫
dx

x(2x2+9x−5x) ,
∫

11x−1
3x2−5x−2dx,

∫
9x−5

9x2−6x+1dx,∫
3x3−5x2+8x
(x−1)3(x+1)dx,

∫
x5+x4+3x3+x2−2

x4−1 dx

Zad. 1.5. Obliczy¢ caªki
∫

cos x
(1+sin2 x)2

dx,
∫

sin x
(1+sin2 x)2

dx,
∫

cos x
(1+cos x)2 dx,∫

1
1+ex dx,

∫
1

1−ex dx,
∫

1
e2x+2ex+2dx,

∫ √
1 + exdx,

Zad. 1.6. Obliczy¢ caªki
∫ √

x
x+1dx,

∫
3

√
x

1−xdx,
∫

dx
x
√
x2+4x−4 ,

∫
dx

x−
√
x2−x+1

,∫
dx

(2x−3)
√
4x−x2

1


